REPUBLIC OF THE PHILIPPINES Province of Cebu Municipality of Ginatilan

NOTICE OF AWARD

March 19, 2020

The MANAGER GENAMAREZ EQUIPMENTS INC. 4-8 White Hills Subd., Second St., Guadalupe, Cebu City

Sir/Madam:

We are happy to notify you that your Company <u>GENAMAREZ EQUIPMENTS INC.</u> was found illegible to supply goods in the amount of <u>Php 36,735.00</u> to the Municipality of Ginatilan, Cebu for the Procurement of Medical Supplies and Consumables.

This being, this Notice of Award is being issued to your company to supply the Municipality with the following items and its descriptions:

1 lot Medical Supplies & Consumables - Php 36,735.00

Please acknowledge receipt and acceptance of this Notice by signing both copies in the space provided below:

Very truly yours,

DEAN MICHAEL P. SINGCO

Municipal Mayor

Conforme:

APRIAN C. SUAPLEZ

Date: March 20, 2020

REPUBLIC OF THE PHILIPPINES Province of Cebu Municipality of Ginatilan

NOTICE TO PROCEED

March 23, 2020
The MANAGER GENAMAREZ EQUIPMENTS INC. 4-8 White Hills Subd., Second St., Guadalupe, Cebu City
Sir/Madam:
Notice is hereby given to GENAMAREZ EQUIPMENTS INC. that work / delivery may commence on the <u>Procurement of Medical Supplies & Consumables</u> , effective on
Upon receipt of this Notice, you are hereby responsible for performing the services/delivering the goods under the terms and conditions of the Agreement and in accordance with the Implementation Schedule.
Please acknowledge receipt and acceptance of this Notice by signing both copies in the space provided below. Keep one (1) copy and return the other to the Municipality of Ginatilan, Cebu.
DEAN MICHAEL P. SINOCO Municipal Mayor
I acknowledge receipt of this Notice on March 24, 2020
Name of the representative of the Company Adrian C. Sugrez
Authorized Signature:

REPUBLIC OF THE PHILIPPINES Province of Cebu Municipality of Ginatilan **BIDS AND AWARDS COMMITTEE**

EXCERPTS FROM THE MINUTES OF MEETING HELD BY THE BIDS AND AWARDS COMMITTEE AT GINATILAN SESSION HALL ON MARCH 18, 2020.

CHERRYL B. ANDICOY	BAC Chairman/Municipal Engineer	
MARY GRACE B. MIRANDA	BAC Vice-Chairman/MSWDO	
NOLAN A. TOCAO	BAC Member/Administrative Aide VI	
EDGARDO B. CABAÑOG	BAC Member/HRMO II	
JOHN ROSEN FERRAREN	BAC Member/MPDC Designate	
GILDA F. LEDESMA	TWG/MBO/	
LOURDES S. GORNEZ	BAC Secretariat/Admin Aide VI	
MARY CATHYLINE C. ERAC	BAC Secretariat/Admin Aide IV	
THELMA B. MANSO	Bidder Representative/RAJ LAURENTE CONST/_	
ADELAIDA NACARIO	NGO Representative/COSCA	
IGNACIO BENGIL	NGO Representative-FEDGIFAO Inc. Chairman	

RESOLUTION NO.3.7 Series of 2020

WHEREAS, presented to the Bids and Awards Committee (BAC) of Ginatilan, Cebu is Purchase Request No. 100-20-03-040 for procurement of the following.

Procurement of Medical Supplies and Consumables

WHEREAS, the Approved Budget for the Contract (ABC) as estimated by the Procuring Office amount to PESOS: THIRTY-SIX THOUSAND SEVEN HUNDRED THIRTY-FIVE PESOS (Php. 36,735.00) ONLY.

WHEREAS, Article XVI Section 53 of Republic Act No. 9184 allows Negotiated Procurement as an alternative method of procurement of goods, infrastructure projects and consulting services, whereby the Procuring Entity directly negotiates a contract with a technically, legally and financially capable supplier, contractor or consultant in identified conditions/cases among which is/are the following:

- Emergency Cases, Section 53(b) of RA No. 9184 and Section 53.2 of its 2016 IRR shall be allowed in the following instances:
 - (a) in case of imminent danger to life or property during a state of calamity
 - (b) when time is of the essence arising from actual or man-made calamities; or
 - (c) other causes where immediate action is necessary to prevent damage to or loss of life, property, or to restore vital public services, infrastructure facilities and other public utilities

WHEREAS, GPPB Resolution No. 03-2020 - The instances or situations where the foregoing conditions may be applied include the provision of immediate response and initial recovery steps to avoid loss of life, injury, disease and other negative effects on human, physical, mental and social well-being, together with damage to property, destruction of assets, loss of services, social and economic disruption and environmental degradation.

NOW THEREFORE, on mass motion of all members present and duly seconded by the same, be it RESOLVED as it is hereby RESOLVED to recommend to the Municipal Mayor the procurement of the items contained in the PR through Negotiated Procurement (Emergency Cases).

Certified True and Correct

MARY CATHYLINE C. ERAC **BAC Secretariat**

Recommende

CHERRY

BAC Chairman

Approved:

DEAN MICHAEL P. SINGCO Municipal Mayor

Y OF GINATILAN, CEBU ard Form Number SF-GOOD-58 Revised on: May 24, 2004 Standard Form Title: Purchase Order Project Reference Number: Name of Project: Location of Project:

PURCHASE ORDER

Municipality of Ginatilan **Procuring Entity**

Supplier:

GENAMAREZ EQUIPMENTS INC.

4-8 White Hills Subd., Second St., Guadalupe, Cebu City

Date

P.O No IN-W-03-U81

E-mail Address

Mode of

Telephone No.

009-933-75 TIN

Procurement

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions

contained herein:

Place of Delivery

LGU - Ginatilan, Cebu

Delivery Term

Place of Delivery		200			
Date of Delivery			Payment Term		
STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
	pc.	Suretech Surgical Gloves Large	1		Php. 275.00
	pcs.	Band-Aid 70% ISO W/MST 15	9	37.25	335.25
	pcs.	Band -Aid ISO ALCO 150 ML	3	34.25	102.7
	pcs.	Band-Aid 70% ISO W/MST 25	6	53.50	321.00
	pcs.	Soft White Facial Tissue	25	40.00	1,000.0
	pcs.	Lysol Disinf Spring WF 51	10	490.00	4,900.0
	pcs.	Ethyl Alcohol 150 ml	56	39.50	2,212.0
	bot.	Alcohol band-aid 250 ml	3	59.00	177.0
	bot.	Alcohol casino 150 ml	3	31.00	93.0
	bot.	Alcohol casino 150 ml	6	32.00	192.0
	bot.	Alcohol band-aid 150 ml	3	42.00	126.0
	1001.	Ethyl alcohol Casino 150	1		32.0
ltr.	ltr.	Alcohol 1 ltr.	100	. 250.00	25,000.0
				V A T 6%	1,967.9

TOTAL:

Php. 36,735.00

In case of failure to make full delivery within the time specified above, a penalty of one tenth (1/10) of one (1) percent for every day of delay shall be imposed

Very truly yours,

Conforme:

GENAMAREZ EQUIPMENTS INC. Signature over Printed Name of Supplier

Date

DEAN MICHAELP. SINGCO Municipal Mayor